Math 233 - Quiz 5 (IC) Name __Key
February 24, 2022 Score

Show all work to receive full credit. Supply explanations when necessary.

1. (2 points) A projectile is fired from 1 meter above the ground at an angle of 60° with
the horizontal. The initial speed of the projectile is 158 m/sec. What is the maximum
height of the projectile? (Use g = 9.8rh/sec?.) ‘
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2. (1 pomt) Describe the graph of a vector-valued function for which the curvature is 0
for all values of ¢ in its domain.
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Math 233 - Quiz 5 (TH) Name _Key
February 24, 2022 Score

Show all work to receive full credit. Supply explanations when necessary. This 7-point,
take-home portion of the quiz is due March 1.

1. (4 points) A projectile is fired frpm ground level at an -angle of 8° with the horizontal.
The projectile is to have a range of 50 meters. Find the required initial velocity and
the maximum height of the projectile.
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2. (3 points) An object is launched from the ground with an initial speed of 80 ft/sec and
at an angle of 60° with the horizontal. Set up the definite integral that gives the length
of the path of the object. Then use technology to estimate the value of the integral.
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